v ¢ —_—
2 113 F<F >RFHEHFHL L2 ==> R2 2
#1: 4 Catchall(31.25) #2: 5 Cyclops(22.98) #3: 3 [E£1(20)
1 NS: #7% iHEEI0) -35 5 NS: Bi5#E SHE(BAC) -8 VP:| 3.79 : 16.21| Total VP: 17.98 Rank:
EW: =% sREREAC) 8 EW: 2p175 ZBEESN(BAO) 35 IMP:| 12 37 4
N
# 15 » AJT2 4HWS5 -450 Mean: 5DE-2 100 9.0 1 [[# 16 - 5DXS-4 -800 Mean: 5SW-1 100 120 1
v Q73 4HW4 -420 -280 5DE-1 50 80 1 v KJ62 5HXS-3 -500 -530  5HXS-3 500 1.0 1
¢ 9875 Dif: -30 NS:-5 4HW4 420 -40 1 * KJ764 Dif: -300 NS:-7 5SW5 650 -3.0 2
» 32 IMP: -1 EW:4 4HW6 480 50 2 » K875 IMP: -7 EW:-1 5SE6 680 -40 1
» K9 » 84 4HW5 450 -50 1 || AKQJT74 # 965 5DXS-4 800 -7.0 1
v KT98652 | v AJ v QT3 — v A5
¢ 6 + AKQT42 * T2 + AQ953
+ K95 Q84 a3 » J94
o4 VABN Q7653 o ¢ VBN 4 832
N~~~2~ 94 N 4~3~~ 9874
S ~~~2~ ¢J3 S 4~3~~ o8
E ~34~1 &AJT76 E ~1~52 &AQT62
W ~34-~1 W ~1~62
# 17 » K9763 7DXN-3 -500 Mean: 6HXE-1 100 50 1 ||#18 » K852 2SW3 -140 Mean: 3SW-3 150 40 1
vJ 6DXN-1-100 -100  6HE-2 100 50 1 v QT82 2SW2 -110 -10  3HN3 140 40 1
+ AKQJT76 Dif: -400 NS:-9 6HW-1 50 40 1 + AB7 Dif: -30 NS:-4 2SW-1 50 20 1
» IMP: -9 EW:0 6DXN-1 4100 00 1 & T4 IMP: -1 EW:3 2SW2 110 3.0 1
& AQ2 ~ J8 6DXN-2  -300 -50 1 ||& A9743 a QJT 2SW3 140 40 1
v K652 v AQT973 7DXN-3  -500 -9.0 1 ||e A654 | v J7 3CN-2 200 -5.0 1
* ¢ ¢ KT ¢ J943
& QT843 & AJ752 » 62 » KQ87
PdPIVAN ,T54 ooV ABN 46
N ~4~2~ 984 N 222~1 v K93
S ~4 ~2~ 498532 S 222~1 ¢ Q652
E 5~4~~ &K96 E ~~~1~ &AJ93
W 6~5~~ W ~~~1~
#19 s K 3CN3 110 Mean: 4HS4 420 40 1 # 20 4 J9852 2SN-1-100 Mean: 4HE-1 100 40 1
v Q7 4HS4 420 290  4HN4 420 40 2 v 8 1NE1-90 -30  2SN2 110 40 1
+ KQJ4 Dif: -310 NS:-5 3HN6 230 -20 1 + AK8 Dif: -10 NS:-2 2SN-1 4100 20 2
& AJT953 IMP: -7 EW:-4 2HN4 170 -3.0 1 & A732 IMP: 0 EW:2 1NE1 90 20 1
s QJ9743 & A65 3CN3 110 -50 1 AT » KQ6 3HE3 140 3.0 1
v 82 v J96 v 96432 _I_ v AKT5
¢ T2 + A765 ¢ T5 * QJ76
& K62 » Q74 » QT96 » J8
¢ VABN 4, T82 oo VABN 4743
N 32 3 ~~ v AKT543 N ~~~~~ v QJ7
S 323~~~ 4983 S ~~~~~ ¢ 9432
E~~~1~ &8 E ~~2~1 &K54
W ~~~1~ W ~~2~1
# 21 # T8765 5CXE-1 100 Mean: 3HS3 140 3.0 3 ||# 22 » QT76 3NN4 430 Mean: 3NN6 490 3.0 1
v J73 3HS3140 40  5CXE-1 100 20 1 v AJ7 3CN6 170 390  3NN4 430 1.0 4
o JT Dif: -40 NS:2 4CE4 130 50 2 + KJ9 Dif: 260 NS:1 3CN6 170 6.0 1
& AT8 IMP: -1 EW:-3 & AQ5 IMP: 6 EW:6
s 94 a AJ32 A 9432 a A8
v 2 v T96 v 92 — v Q543
+ KQ762 ¢ A95 ¢ QT75 ¢ A8632
& Q9763 » KJ4 » K98 » 43
¢V ABN ,KQ P eVAN 4 KI5
N ~ ~ 3 ~1 v AKQ854 N 5~555 o KT86
S ~~3~1 ¢843 S 5~5 * 4
E 44~~~ &52 E ~~~~~ & JT762
W 44~~~ W ~ ~~~~
# 23 aT7 2HW-1100 Mean: 2HW-2 200 10 3 ||# 24 4 76 2SW3 -140 Mean: 2SW-1 50 3.0 1
v KQ4 2HW-2200 160  1NW-2 200 1.0 1 v Q2 2HW3 -140 60  2HW-1 50 30 1
¢ J83 Dif: -100 NS:-2 2HW-1 100 20 2 ¢ J843 Dif: 0 NS:-2 2Sw3 140 20 1
& AJT85 IMP: -3 EW:-1 & AJT92 IMP: 0 EW:2 2SW2 110 20 2
» Q9 » AJ432 » AKQ84 aJT 2HW3 140 20 1
v J86532 + v v K3 v J9854
¢ A5 + KT964 ¢ T762 * A9
+ KQ7 S & 643 » K3 & 7654
% ¢ V&SN 4 K865 ¢ VAN 49532
N ~~1~~ ¢ AT97 N 21~~~ o AT76
S ~~1~1 +Q72 S 21~~~ ¢KQ5
E ~1~2~ 92 E ~~~1~ &Q8
W ~1~2~ W ~~~1~
# 25 »J8 3NN3 400 Mean: 4SS4 420 30 1 ||# 26 aT 2DS2 90 Mean: 2HS3 140 20 3
v AQ986 4SS4 420 330 3NN4 430 3.0 1 v AT543 2SE2 -110 80  2HS2 110 1.0 1
¢ QJ73 Dif: -20 NS:2 3NN3 400 20 3 ¢ J8 Dif: 200 NS:0 2DS2 90 00 1
& K9 IMP: -1 EW:-3 3NN-1 50 9.0 1 & 98632 IMP: 5 EW:5 2SE2 110 5.0 1
& 962 » K3 & K972 » J8643
v KT742 v3 v QJ8 + v 762
¢4 — + AT9865 ¢ T942 ¢ A3
& QT64 » A873 a AK a J74
% ¢ VAN o AQT754 oo VABN 4 AQ5
N ~~344 oJ5 N 322~~ ¢K9
S ~~344 +K2 S 323 ~1 ¢ KQ765
E1~~~~ &J52 E ~~~2~ &QT5
W1l~~~~ W ~~~ 2~
# 27 4 A63 3HN4 170 Mean: 4HN4 420 60 1 # 28 4 JT4 2SS-1-100 Mean: 2NN4 180 40 1
v AK82 1NN3 150 200  3HN4 170 1.0 1 v K87 1NN4180 20  1NN4 180 40 1
*72 Dif: 20 NS:-1  2HN4 170 1.0 3 + A3 Dif: -280 NS:-3 2SS2 110 30 1
» KT52 IMP: 1 EW:2 1NN3 150 2.0 1 & KQJT6 IMP: -7 EW:-4 2CN2 90 20 1
s 754 a JT92 63 » Q952 288-1 4100 -3.0 1
v Q5 v T63 v QT62 I v AJ3 2NN-3 300 -8.0 1
+ Q85 ¢ AKJT3 ¢ 982 + KQT4
& QJ763 a4 » A974 & 32
o ¢VABN , KQ3 %o ¢ VAN 4 AKS7
N 3~4~2 9J974 N 2~~21 954
S 3~4~2 ¢964 S 2~~11 ¢J765
E ~~~~~ » A98 E ~11~~ 485
W ~~~~~ W ~11~~




v ¢ —_—
2 113 F<F >RFHEHFHL L2 ==> R2 2
#1: 4 Catchall(31.25) #2: 5 Cyclops(22.98) #3: 3 [B]#.(20)
2 NS: ZA55% BRHEGHO) 22 3 NS: 15iX5E BRe5F(BAC) 6 VP:| 13.23 : 6.77 | Total VP: 15.46 Rank:
EW: 27 FEEEI0) -6 EW: i#tiRiE BRERR(BAO) -2 IMP:| 37 26 5
N
# 15 » AJT2 5DE-150 Mean: 5DE-2 100 9.0 1 [[# 16 - 5SW5 -650 Mean: 5SW-1 100 120 1
v Q73 4HW6 -480 -280  5DE-1 50 80 1 v KJ62 5SW-1100 -530 5HXS-3  -500 1.0 1
¢ 9875 Dif: 530 NS:8 4HW4 420 -40 1 * KJ764 Dif: -750 NS:-3 5SW5 650 -3.0 2
» 32 IMP: 11 EW:5 4HW6 480 50 2 » K875 IMP: -13 EW:-12 5SE6 680 -40 1
» K9 » 84 4HW5 450 -50 1 || AKQJT74 # 965 5DXS-4  -800 -7.0 1
v KT98652 | v AJ v QT3 — v A5
¢ 6 + AKQT42 ¢ T2 + AQ953
+ K95 » Q84 a3 » J94
o4 VABN Q7653 o ¢ VBN 4 832
N~~~2~ 94 N 4~3~~ 9874
S ~~~2~ ¢J3 S 4~3~~ 48
E ~34~1 &AJT76 E ~1~52 &AQT62
W ~34-~1 W ~1~62
# 17 » K9763 6HW-1 50 Mean: 6HXE-1 100 50 1 ||#18 » K852 2SW-1 50 Mean: 3SW-3 150 40 1
vJ 6HE-2100 -100  6HE-2 100 50 1 v QT82 3SW-3150 -10  3HN3 140 40 1
+ AKQJT76 Dif: -50 NS:4 6HW-1 50 40 1 + AB7 Dif: -100 NS:2 2SW-1 50 20 1
» IMP: -2 EW:-5 6DXN-1 4100 00 1 & T4 IMP: -3 EW:-4 2SW2 110 3.0 1
& AQ2 ~ J8 6DXN-2  -300 -50 1 ||& A9743 a QJT 2SW3 140 40 1
v K652 v AQT973 7DXN-3  -500 -9.0 1 ||e A654 | v J7 3CN-2 200 -5.0 1
* ¢ ¢ KT ¢ J943
& QT843 » AJ752 » 62 » KQ87
PdPIVAN ,T54 ooV ABN 46
N ~4~2~ 984 N 222~1 v K93
S ~4 ~2~ 498532 S 222~1 ¢ Q652
E 5~4~~ &K96 E ~~~1~ &AJ93
W 6~5~~ W ~~~1~
#19 s K 2HN4 170 Mean: 4HS4 420 40 1 # 20 4 J9852 2SN2 110 Mean: 4HE-1 100 40 1
v Q7 4HN4 420 290  4HN4 420 40 2 v 8 3HE3 -140 -30  2SN2 110 40 1
+ KQJ4 Dif: -250 NS:-3 3HN6 230 -20 1 + AK8 Dif: 250 NS:4 2SN-1 4100 20 2
& AJT953 IMP: -6 EW:-4 2HN4 170 -3.0 1 & A732 IMP: 6 EW:3 1NE1 90 20 1
s QJ9743 & A65 3CN3 110 -50 1 T » KQ6 3HE3 140 3.0 1
v 82 v J96 v 96432 _I_ v AKT5
¢ T2 + A765 ¢ T5 * QJ76
& K62 » Q74 » QT96 » J8
¢ VABN 4, T82 oo VABN 4743
N 32 3 ~~ v AKT543 N ~~~~~ v QJ7
S 323~~ 4983 S ~~~~~ ¢ 9432
E~~~1~ &8 E ~~2~1 &K54
W~~~1-~ W ~~2~1
# 21 # T8765 3HS3 140 Mean: 3HS3 140 3.0 3 ||# 22 » QT76 3NN4 430 Mean: 3NN6 490 3.0 1
v J73 4CE4 -130 40  5CXE-1 100 20 1 v AJ7 3NN6 490 390  3NN4 430 1.0 4
o JT Dif: 270 NS:3 4CE4 130 50 2 + KJ9 Dif: -60 NS:1  3CN6 170 6.0 1
& AT8 IMP: 7 EW:5 & AQ5 IMP: -2 EW:-3
s 94 a AJ32 A 9432 s A8
v 2 v T96 v 92 — v Q543
+ KQ762 ¢ A95 ¢ QT75 ¢ A8632
& Q9763 » KJ4 » K98 » 43
¢V ABN ,KQ P eVAN 4 KI5
N ~ ~ 3 ~1 v AKQ854 N 5~555 o KT86
S ~~3~1 ¢843 S 5~5 * 4
E 44~~~ 452 E ~~~~~ & JT762
W 44~~~ W ~ ~~~~
# 23 aT7 2HW-2 200 Mean: 2HW-2 200 10 3 ||# 24 4 76 2SW2 -110 Mean: 2SW-1 50 3.0 1
v KQ4 2HW-1100 160  1NW-2 200 1.0 1 v Q2 2SW2 -110 -60  2HW-1 50 30 1
¢ J83 Dif: 100 NS:1  2HW-1 100 20 2 ¢ J843 Dif: 0 NS:-2 2Sw3 140 20 1
& AJT85 IMP: 3 EW:2 & AJT92 IMP: 0 EW:2 2SW2 110 20 2
s Q9 & AJ432 » AKQ84 aJT 2HW3 140 20 1
v J86532 + v v K3 v J9854
¢ A5 + KT964 ¢ T762 * A9
+ KQ7 S & 643 & K3 & 7654
o4 VBN 4 K865 oo VAN 49532
N ~~1~~ ¢AT97 N 21~~~ yAT76
S ~~1~1 ¢Qr2 S 21~~~ ¢KQs
E ~1~2~ #92 E~~~1~ Q8
W~1~2-~ W ~~~1-~
# 25 »J8 3NN4 430 Mean: 4SS4 420 30 1 ||# 26 aT 2HS3 140 Mean: 2HS3 140 20 3
v AQ986 3NN3 400 330 3NN4 430 3.0 1 v AT543 2HS3140 80  2HS2 110 1.0 1
¢ QJ73 Dif: 30 NS:3  3NN3 400 20 3 ¢ J8 Dif: 0 NS:2 2DS2 90 00 1
& K9 IMP: 1 EW:-2 3NN-1 50 9.0 1 & 98632 IMP: 0 EW:-2 2SE2 110 5.0 1
& 962 » K3 & K972 » J8643
v KT742 v3 v QJ8 + v 762
¢4 — + AT9865 ¢ T942 ¢ A3
& QT64 » A873 » AK & J74
% ¢ VAN o AQT754 oo VABN 4 AQ5
N ~~344 oJ5 N 322~~ ¢K9
S ~~344 +K2 S 323 ~1 ¢ KQ765
E1~~~~ &J52 E ~~~2~ &QT5
W1l~~~~ W ~~~ 2~
# 27 4 A63 2HN4 170 Mean: 4HN4 420 60 1 # 28 4 JT4 2SS2 110 Mean: 2NN4 180 40 1
v AK82 2HN4 170 200  3HN4 170 1.0 1 v K87 2NN-3-300 20  1NN4 180 40 1
*72 Dif: 0 NS:-1 2HN4 170 1.0 3 + A3 Dif: 410 NsS:3 2SS2 110 30 1
» KT52 IMP: 0 EW:1 1NN3 150 2.0 1 » KQJT6 IMP: 9 EW:8 2CN2 90 20 1
s 754 a JT92 63 » Q952 288-1 4100 -3.0 1
v Q5 v T63 v QT62 I v AJ3 2NN-3 300 -8.0 1
+ Q85 ¢ AKJT3 ¢ 982 + KQT4
& QJ763 a4 » A974 & 32
o ¢VABN , KQ3 %o ¢ VAN 4 AKS7
N 3~4~2 9J974 N 2~~21 954
S 3~4~2 ¢964 S 2~~11 ¢J765
E ~~~~~ » A98 E ~11~~ 485
W~~~-~-~ W ~11-~-~




v 4 —_—
2 113 F<F >RFHEHFHL L2 ==> R2 2
#1: 4 Catchall(31.25) #2: 5 Cyclops(22.98) #3: 3 [B]#.(20)
3 NS: #BIGE FREET(EHC) 6 2 NS: 21588 EA(F0) 22 VP:| 6.77 13.23| Total VP: 20.00 Rank:
EW: iR BEEBHEHO0) -22 EW: RiE5 $BEEE(BAC) -6 IMP:| 26 : 37 3
N
# 15 » AJT2 5DE-1-50 Mean: 5DE-2 100 9.0 1 [[# 16 - 5SW5 650 Mean: 5SW-1 100 120 1
v Q73 4HWG6 480 -280  5DE-1 50 80 1 v KJ62 5SW-1 -100 5HXS-3 500 1.0 1
¢ 9875 Dif: -530 NS:-5 4HW4 420 -40 1 * KJ764 Dif: 750 NS:12 5SW5 650 -3.0 2
» 32 IMP: -11 EW:-8 4HW6 480 50 2 » K875 IMP: 13 EW:3 5SE6 680 -40 1
» K9 » 84 4HW5 450 -50 1 || AKQJT74 # 965 5DXS-4  -800 -7.0 1
v KT98652 | v AJ v QT3 — v A5
¢ 6 + AKQT42 ¢ T2 + AQ953
+ K95 Q84 a3 » J94
o4 VABN Q7653 o ¢ VBN 4 832
N~~~2~ 94 N 4~3~~ 9874
S ~~~2~ ¢J3 S 4~3~~ 48
E ~34~1 &AJT76 E ~1~52 &AQT62
W ~34-~1 W ~1~62
# 17 » K9763 6HW-1 -50 Mean: 6HXE-1 100 50 1 ||#18 » K852 2SW-1-50 Mean: 3SW-3 150 40 1
vJ 6HE-2-100 -100  6HE-2 100 50 1 v QT82 3SW-3 -150 3HN3 140 40 1
+ AKQJT76 Dif: 50 NS:5 6HW-1 50 40 1 + AB7 Dif: 100 NS:4 2SW-1 50 20 1
» IMP: 2 EW:-4 6DXN-1 4100 00 1 & T4 IMP: 3 EW:-2 2SW2 110 3.0 1
& AQ2 ~ J8 6DXN-2  -300 -50 1 ||& A9743 a QJT 2SW3 140 40 1
v K652 v AQT973 7DXN-3  -500 -9.0 1 ||e A654 | v J7 3CN-2 200 -5.0 1
* ¢ ¢ KT ¢ J943
& QT843 » AJ752 » 62 » KQ87
PdPIVAN ,T54 ooV ABN 46
N ~4~2~ 84 N 222~1 vK3
S ~4~2~ 498532 S 222~1 ¢ Q652
E 5~4~~ &K% E ~~~1~ &AJ953
W6~5~-~ W ~~~1-~
#19 s K 2HN4 -170 Mean: 4HS4 420 40 1 # 20 4 J9852 2SN2 -110 Mean: 4HE-1 100 40 1
v Q7 4HN4 -420 290  4HN4 420 40 2 v 8 3HE3 140 - 2SN2 110 40 1
+ KQJ4 Dif: 250 NS:4 3HN6 230 -20 1 + AK8 Dif: -250 NS:-3 2SN-1 4100 20 2
& AJT953 IMP: 6 EW:3 2HN4 170 -3.0 1 & A732 IMP: -6 EW:-4 1NE1 90 20 1
s QJ9743 & A65 3CN3 110 -50 1 T » KQ6 3HE3 140 3.0 1
v 82 v J96 v 96432 _I_ v AKT5
¢ T2 + A765 ¢ T5 * QJ76
& K62 » Q74 » QT96 » J8
¢ VABN 4, T82 oo VABN 4743
N 32 3 ~~ v AKT543 N ~~~~~ v QJ7
S 323~~ 4983 S ~~~~~ ¢ 9432
E~~~1~ &8 E ~~2~1 &K54
W~~~1-~ W ~~2~1
# 21 # T8765 3HS3 -140 Mean: 3HS3 140 3.0 3 ||# 22 » QT76 3NN4 -430 Mean: 3NN6 490 3.0 1
v J73 4CE4130 40  5CXE-1 100 20 1 v AJ7 3NN6 -490 3NN4 430 1.0
o JT Dif: -270 NS:-5 4CE4 130 50 2 + KJ9 Dif: 60 NS:3 3CN6 170 6.0 1
& AT8 IMP: -7 EW:-3 & AQ5 IMP: 2 EW:-1
s 94 a AJ32 A 9432 s A8
v 2 v T96 v 92 — v Q543
+ KQ762 ¢ A95 ¢ QT75 ¢ A8632
& Q9763 » KJ4 » K98 » 43
¢V ABN ,KQ P eVAN 4 KI5
N ~ ~ 3 ~1 v AKQ854 N 5~555 o KT86
S ~~3~1 ¢843 S 5~5 * 4
E 44~~~ 452 E ~~~~~ & JT762
W 44~~~ W ~ ~~~~
# 23 aT7 2HW-2 -200 Mean: 2HW-2 200 10 3 ||# 24 4 76 2SW2 110 Mean: 2SW-1 50 3.0 1
v KQ4 2HW-1-100 160  1NW-2 200 1.0 1 v Q2 2SW2 110 - 2HW-1 50 30 1
¢ J83 Dif: -100 NS:-2 2HW-1 100 20 2 ¢ J843 Dif: 0 NS:-2 2Sw3 140 20 1
& AJT85 IMP: -3 EW:-1 & AJT92 IMP: 0 EW:2 2SW2 110 20 2
s Q9 & AJ432 » AKQ84 aJT 2HW3 140 20 1
v J86532 + v v K3 v J9854
¢ A5 + KT964 ¢ T762 * A9
+ KQ7 S & 643 & K3 & 7654
o4 VBN 4 K865 oo VAN 49532
N ~~1~~ ¢AT97 N 21~~~ yAT76
S ~~1~1 +Q72 S 21~~~ ¢KQs
E ~1~2~ #92 E~~~1~ Q8
W~1~2-~ W ~~~1-~
# 25 »J8 3NN4 -430 Mean: 4SS4 420 30 1 ||# 26 aT 2HS3 -140 Mean: 2HS3 140 20 3
v AQ986 3NN3 -400 330  3NN4 430 3.0 1 v AT543 2HS3 -140 2HS2 110 1.0 1
¢ QJ73 Dif: -30 NS:2 3NN3 400 20 3 ¢ J8 Dif: 0 NS:2 2DS2 90 00 1
& K9 IMP: -1 EW:-3 3NN-1 50 9.0 1 & 98632 IMP: 0 EW:-2 2SE2 110 5.0 1
& 962 » K3 & K972 » J8643
v KT742 v3 v QJ8 + v 762
¢4 — + AT9865 ¢ T942 ¢ A3
& QT64 » A873 » AK & J74
% ¢ VAN o AQT754 oo VABN 4 AQ5
N ~~344 oJ5 N 322~~ ¢K9
S ~~344 +K2 S 323 ~1 ¢ KQ765
E1~~~~ &J52 E ~~~2~ &QT5
W1l~~~~ W ~~~ 2~
# 27 4 A63 2HN4 -170 Mean: 4HN4 420 60 1 # 28 4 JT4 2SS2 -110 Mean: 2NN4 180 40 1
v AK82 2HN4 -170 200  3HN4 170 1.0 1 v K87 2NN-3 300 1NN4 180 40 1
*72 Dif: 0 NS:-1 2HN4 170 1.0 3 + A3 Dif: -410 NsS:-8 2SS2 110 30 1
» KT52 IMP: 0 EW:1 1NN3 150 2.0 1 » KQJT6 IMP: -9 EW:-3 2CN2 90 20 1
s 754 a JT92 63 » Q952 288-1 4100 -3.0 1
v Q5 v T63 v QT62 I v AJ3 2NN-3 300 -8.0 1
+ Q85 ¢ AKJT3 ¢ 982 + KQT4
& QJ763 a4 » A974 & 32
o ¢VABN , KQ3 %o ¢ VAN 4 AKS7
N 3~4~2 9J974 N 2~~21 954
S 3~4~2 ¢964 S 2~~11 ¢J765
E ~~~~~ » A98 E ~11~~ 485
W~~~-~-~ W ~11-~-~




v ¢ —_—
2 113 F<F >RFHEHFHL L2 ==> R2 2
#1: 4 Catchall(31.25) #2: 5 Cyclops(22.98) #3: 3 [B]#.(20)
4 NS: S35 BRFEAREGH0) 14 6 NS: {158 F5RE(EAC) 1 VP:| 13.48 : 6.52 | Total VP: 31.25 Rank:
EW: BEEEE) BRiRi2 EAC) -1 EW: MR 21228 (0) -1 IMP:| 39 27 1
N
# 15 » AJT2 5DE-2 100 Mean: 5DE-2 100 9.0 1 # 16 » 5SE6 -680 Mean: 5SW-1 100 120 1
v Q73 4HW6 -480 -280  5DE-1 50 80 1 v KJ62 5SW5 -650 -530 5HXS-3 500 1.0 1
¢ 9875 Dif: 580 NS:9 4HW4 420 -40 1 * KJ764 Dif: -30 NS:-4 5SW5 650 -3.0 2
» 32 IMP: 11 EW:5 4HW6 480 50 2 » K875 IMP: -1 EW:3 5SE6 680 -40 1
» K9 » 84 4HW5 450 -50 1 || AKQJT74 # 965 5DXS-4  -800 -7.0 1
v KT98652 | v AJ v QT3 — v A5
¢ 6 + AKQT42 ¢ T2 + AQ953
& K95 » Q84 a3 & J94
o4 VABN Q7653 o ¢ VBN 4 832
N~~~2~ 94 N 4~3~~ 9874
S ~~~2~ ¢J3 S 4~3~~ 48
E ~34~1 &AJT76 E ~1~52 &AQT62
W ~34-~1 W ~1~62
#17 » K9763 6HXE-1 100 Mean: 6HXE-1 100 50 1 ||#18 » K852 3CN-2 -200 Mean: 3SW-3 150 40 1
vJ 6DXN-2 -300 -100  6HE-2 100 50 1 v QT82 3HN3 140 -10  3HN3 140 40 1
+ AKQJT76 Dif: 400 NS:5 6HW-1 50 40 1 ¢ A87 Dif: -340 NS:-5 2SW-1 50 20 1
» IMP: 9 EW:5 6DXN-1 4100 00 1 & T4 IMP: -8 EW:-4 2SW2 110 3.0 1
» AQ2 ~ J8 6DXN-2  -300 -50 1 ||& A9743 a QJT 2SW3 140 40 1
v K652 v AQT973 7DXN-3  -500 -9.0 1 ||e A654 | v J7 3CN-2 200 5.0 1
* ¢ ¢ KT ¢ J943
& QT843 » AJ752 » 62 » KQ87
PdPIVAN ,T54 ooV ABN 46
N ~4~2~ 84 N 222~1 vK3
S ~4~2~ 498532 S 222~1 ¢ Q652
E 5~4~~ &K% E ~~~1~ &AJ953
W 6~5~-~ W ~~~1~
#19 s K 4HN4 420 Mean: 4HS4 420 40 1 # 20 4 J9852 2SN-1-100 Mean: 4HE-1 100 40 1
v Q7 3HN6 230 290  4HN4 420 40 2 v 8 4HE-1 100 -30  2SN2 110 40 1
+ KQJ4 Dif: 190 NS:4 3HN6 230 -20 1 + AK8 Dif: -200 NS:-2 2SN-1 4100 20 2
& AJT953 IMP: 5 EW:2 2HN4 170 -3.0 1 » A732 IMP: -5 EW:-4 1NE1 9 20 1
s QJ9743 & A65 3CN3 110 50 1 T » KQ6 3HE3 140 3.0 1
v 82 v J96 v 96432 _I_ v AKT5
¢ T2 + A765 ¢ T5 * QJ76
& K62 » Q74 » QT96 » J8
¢ VABN 4, T82 oo VABN 4743
N 323 ~~ yAKT543 N ~~~~~ v QJ7
S 323~~ 4983 S ~~~~~ * 9432
E~~~1~ a8 E ~~2~1 &K54
W~~~1-~ W ~~2~1
#21 # T8765 4CE4 -130 Mean: 3HS3 140 3.0 3 ||# 22 » QT76 3NN4 430 Mean: 3NN6 490 3.0 1
v J73 3HS3140 40  5CXE-1 100 20 1 v AJ7 3NN4 430 390  3NN4 430 1.0 4
o JT Dif: -270 NS:-5 4CE4 130 50 2 * KJ9 Dif: 0 NS:1 3CN6 170 6.0 1
& AT8 IMP: -7 EW:-3 & AQ5 IMP: 0 EW:-1
s 94 & AJ32 & 9432 s A8
v 2 v T96 v 92 — v Q543
+ KQ762 ¢ A95 ¢ QT75 ¢ A8632
& Q9763 » KJ4 » K98 » 43
¢V ABN ,KQ P eVAN 4 KI5
N ~ ~ 3 ~1 v AKQ854 N 5~555 o KT86
S ~~3~1 ¢843 S 5~5 * 4
E 44~~~ 452 E ~~~~~ « JT762
W 44~~~ W ~ ~~~~
# 23 aT7 1NW-2 200 Mean: 2HW-2 200 10 3 ||# 24 4 76 2HW-1 50 Mean: 2SW-1 50 3.0 1
v KQ4 2HW-2200 160  1NW-2 200 1.0 1 v Q2 2SW-150 -60  2HW-1 50 30 1
¢ J83 Dif: 0 NS:1 2HW-1 100 20 2 ¢ J843 Dif: 0 NS:3 2Sw3 140 20 1
» AJT85 IMP: 0 EW:-1 » AJT92 IMP: 0 EW:-3 2SW2 410 20 2
s Q9 & AJ432 » AKQ84 aJT 2HW3 140 20 1
v J86532 + v v K3 v J9854
¢ A5 + KT964 ¢ T762 * A9
+ KQ7 S & 643 & K3 & 7654
o4 VBN 4 K865 oo VAN 49532
N ~~1~~ ¢ AT97 N 21~~~ o AT76
S ~~1~1 +Q72 S 21~~~ ¢KQ5
E ~1~2~ 92 E ~~~1~ &Q8
W~1~2-~ W ~~~1~
# 25 aJ8 3NN3 400 Mean: 4SS4 420 30 1 ||# 26 aT 2HS3 140 Mean: 2HS3 140 20 3
v AQ986 3NN-1-50 330 3NN4 430 3.0 1 v AT543 2HS2110 80  2HS2 110 1.0 1
¢ QJ73 Dif: 450 NS:2 3NN3 400 20 3 ¢ J8 Dif: 30 NS:2 2DS2 90 00 1
» K9 IMP: 10 EW:9  3NN-1 50 9.0 1 & 98632 IMP: 1 EW:-1 2SE2 110 5.0 1
& 962 s K3 & K972 » J8643
v KT742 v3 v QJ8 + v 762
¢4 — ¢ AT9865 ¢ T942 ¢ A3
& QT64 » A873 & AK & J74
% ¢ VAN o AQT754 oo VABN 4 AQ5
N ~~344 oJ5 N 322~~ ¢K9
S ~~344 +K2 S 323 ~1 ¢ KQ765
E1~~~~ &J52 E ~~~2~ &QT5
W1l~~~~ W ~~~ 2~
# 27 4 A63 2HN4 170 Mean: 4HN4 420 60 1 # 28 4 JT4 2NN4 180 Mean: 2NN4 180 40 1
v AK82 4HN4 420 200  3HN4 170 1.0 1 v K87 2CN290 20  1NN4 180 40 1
*72 Dif: -250 NS:-1 2HN4 170 1.0 3 + A3 Dif: 90 NS:4 2SS2 110 30 1
» KT52 IMP: -6 EW:-6 1NN3 150 2.0 1 » KQJT6 IMP: 3 EW:-2 2CN2 90 20 1
s 754 a JT92 63 » Q952 2581 4100 -3.0 1
v Q5 v T63 v QT62 I v AJ3 2NN-3 300 -8.0 1
+ Q85 ¢ AKJT3 ¢ 982 + KQT4
& QJ763 a4 & A974 & 32
o ¢VABN , KQ3 %o ¢ VAN 4 AKS7
N 3~4~2 9J974 N 2~~21 954
S 3~4~2 ¢964 S 2~~11 ¢J765
E ~~n~~~ & A98 E~11~~ 485
W~~~-~-~ W ~11-~-~




v ¢ —_—
2 113 F<F >RFHEHFHL L2 ==> R2 2
#1: 4 Catchall(31.25) #2: 5 Cyclops(22.98) #3: 3 [B]#.(20)
5 NS: EiERE HAZEFC) -8 1 NS: ¥i8 lEi3h{h(F0) -35 VP:| 16.21 : 3.79 Total VP: 22.98 Rank:
EW: Z0780 FgsLEHO) 35 EW: E}#% sRERFH(BAC) 8 IMP:| 37 12 2
N
# 15 » AJT2 4HWS5 450 Mean: 5DE-2 100 9.0 1 # 16 ' 5DXS-4 800 Mean: 5SW-1 100 120 1
v Q73 4HW4 420 -280 5DE-1 50 80 1 v KJ62 5HXS-3 500 -530 5HXS-3 500 1.0 1
¢ 9875 Dif: 30 NS:-4 4HW4 420 -40 1 * KJ764 Dif: 300 NS:1 5SW5 650 -3.0 2
» 32 IMP: 1 EW:5 4HW6 480 50 2 » K875 IMP: 7 EW:7 5SE6 680 -40 1
» K9 » 84 4HW5 450 -50 1 || AKQJT74 # 965 5DXS-4 800 -7.0 1
v KT98652 | v AJ v QT3 — v A5
¢ 6 + AKQT42 * T2 + AQ953
+ K95 Q84 a3 » J94
o4 VABN Q7653 o ¢ VBN 4 832
N~~~2~ 94 N 4~3~~ 9874
S ~~~2~ ¢J3 S 4~3~~ o8
E ~34~1 &AJT76 E ~1~52 &AQT62
W ~34-~1 W ~1~62
# 17 » K9763 7DXN-3 500 Mean: 6HXE-1 100 50 1 ||#18 » K852 2SW3 140 Mean: 3SW-3 150 40 1
vJ 6DXN-1 100 -100  6HE-2 100 50 1 v QT82 2SW2110 -10  3HN3 140 40 1
+ AKQJT76 Dif: 400 NS:0 6HW-1 50 40 1 + AB7 Dif: 30 NS:-3  2SW-1 50 20 1
» IMP: 9 EW:9 6DXN-1 4100 00 1 & T4 IMP: 1 EW:4 2SW2 110 3.0 1
& AQ2 ~ J8 6DXN-2  -300 -50 1 ||& A9743 a QJT 2SW3 140 40 1
v K652 v AQT973 7DXN-3  -500 -9.0 1 ||e A654 | v J7 3CN-2 200 -5.0 1
* ¢ ¢ KT ¢ J943
& QT843 & AJ752 » 62 » KQ87
PdPIVAN ,T54 ooV ABN 46
N ~4~2~ 984 N 222~1 v K93
S ~4 ~2~ 498532 S 222~1 ¢ Q652
E 5~4~~ &K96 E ~~~1~ &AJ93
W6~5~-~ W ~~~1-~
#19 s K 3CN3 -110 Mean: 4HS4 420 40 1 # 20 4 J9852 2SN-1100 Mean: 4HE-1 100 40 1
v Q7 4HS4 -420 290  4HN4 420 40 2 v 8 1NE190 -30  2SN2 110 40 1
+ KQJ4 Dif: 310 NS:4 3HN6 230 -20 1 + AK8 Dif: 10 NS:-2 2SN-1 4100 20 2
& AJT953 IMP: 7 EW:5 2HN4 170 -3.0 1 & A732 IMP: 0 EW:2 1NE1 90 20 1
s QJ9743 & A65 3CN3 110 -50 1 T » KQ6 3HE3 140 3.0 1
v 82 v J96 v 96432 _I_ v AKT5
¢ T2 + A765 ¢ T5 * QJ76
& K62 » Q74 » QT96 » J8
¢ VABN 4, T82 oo VABN 4743
N 323 ~~ v AKT543 N ~~~~~ v QJ7
S 323~~~ 4983 S ~~~~~ ¢ 9432
E~~~1~ a8 E ~~2~1 & K54
W ~~~1~ W ~~2~1
# 21 # T8765 5CXE-1-100 Mean: 3HS3 140 3.0 3 ||# 22 » QT76 3NN4 -430 Mean: 3NN6 490 3.0 1
v J73 3HS3-140 40  5CXE-1 100 20 1 v AJ7 3CN6 -170 390  3NN4 430 1.0 4
o JT Dif: 40 NS:3 4CE4 130 50 2 + KJ9 Dif: -260 NS:-6 3CN6 170 6.0 1
& AT8 IMP: 1 EW:-2 & AQ5 IMP: -6 EW:-1
s 94 a AJ32 A 9432 a A8
v 2 v T96 v 92 — v Q543
+ KQ762 ¢ A95 ¢ QT75 ¢ A8632
& Q9763 » KJ4 » K98 » 43
¢V ABN ,KQ P eVAN 4 KI5
N ~ ~ 3 ~1 v AKQ854 N 5~555 o KT86
S ~~3~1 ¢843 S 5~5 * 4
E 44~~~ &52 E ~~~~~ & JT762
W 44~~~ W ~~~~~
# 23 aT7 2HW-1 -100 Mean: 2HW-2 200 10 3 ||# 24 4 76 2SW3 140 Mean: 2SW-1 50 3.0 1
v KQ4 2HW-2 -200 160  1NW-2 200 1.0 1 v Q2 2HW3 140 -60  2HW-1 50 30 1
¢ J83 Dif: 100 NS:1  2HW-1 100 20 2 ¢ J843 Dif: 0 NS:-2 2Sw3 140 20 1
& AJT85 IMP: 3 EW:2 & AJT92 IMP: 0 EW:2 2SW2 110 20 2
» Q9 » AJ432 » AKQ84 aJT 2HW3 140 20 1
v J86532 + v v K3 v J9854
¢ A5 + KT964 ¢ T762 * A9
+ KQ7 S & 643 » K3 & 7654
o4 VBN 4 K865 o ¢ VAN 49532
N ~~1~~ ¢ AT97 N 21~~~ o AT76
S ~~1~1 +Q72 S 21~~~ ¢KQ5
E ~1~2~ 92 E ~~~1~ &Q8
W ~1~2~ W ~~~1~
# 25 »J8 3NN3 -400 Mean: 4SS4 420 30 1 ||# 26 aT 2DS2 -90 Mean: 2HS3 140 20 3
v AQ986 4SS4 -420 330  3NN4 430 3.0 1 v AT543 2SE2110 80  2HS2 110 1.0 1
¢ QJ73 Dif: 20 NS:3  3NN3 400 20 3 ¢ J8 Dif: -200 NS:-5 2DS2 90 00 1
& K9 IMP: 1 EW:-2 3NN-1 50 9.0 1 & 98632 IMP: -5 EW:0 2SE2 110 5.0 1
& 962 » K3 & K972 » J8643
v KT742 v3 v QJ8 + v 762
¢4 — + AT9865 ¢ T942 ¢ A3
& QT64 » A873 a AK a J74
% ¢ VAN o AQT754 oo VABN 4 AQ5
N ~~344 oJ5 N 322~~ ¢K9
S ~~344 +K2 S 323 ~1 ¢ KQ765
E1~~~~ &J52 E ~~~2~ &QT5
W1l~~~~ W ~~~ 2~
# 27 4 A63 3HN4 -170 Mean: 4HN4 420 60 1 # 28 4 JT4 2SS-1 100 Mean: 2NN4 180 40 1
v AK82 1NN3 -150 200  3HN4 170 1.0 1 v K87 1NN4 -180 20  1NN4 180 40 1
*72 Dif: -20 NS:-2 2HN4 170 1.0 3 + A3 Dif: 280 NS:4 2SS2 110 30 1
» KT52 IMP: -1 EW:1 1NN3 150 2.0 1 & KQJT6 IMP: 7 EW:3 2CN2 90 20 1
s 754 a JT92 63 » Q952 25S-1 4100 -3.0 1
v Q5 v T63 v QT62 I v AJ3 2NN-3 300 -8.0 1
+ Q85 ¢ AKJT3 ¢ 982 + KQT4
& QJ763 a4 » A974 & 32
o ¢VABN , KQ3 %o ¢ VAN 4 AKS7
N 3~4~2 9J974 N 2~~21 954
S 3~4~2 ¢964 S 2~~11 ¢J765
E ~~~~~ » A98 E ~11~~ 485
W ~~~~~ W ~11~~




v 4 —_—
2 113 F<F >RFHEHFHL L2 ==> R2 2
#1: 4 Catchall(31.25) #2: 5 Cyclops(22.98) #3: 3 [B]#.(20)
6 NS: a5 Z5EEEAC) 1 4 NS: Rt %K K(BAO) 14| VP:| 6.52 13.48 | Total VP: 12.33 Rank:
EW: #h=H: S22 (EH0) -14 EW: [REES) BRHEE(BAC) 1 IMP:| 27 39 6
N
# 15 » AJT2 5DE-2 -100 Mean: 5DE-2 100 9.0 1 # 16 ' 5SE6 680 Mean: 5SW-1 100 120 1
v Q73 4HWG6 480 -280  5DE-1 50 80 1 v KJ62 5SW5 650 -530 5HXS-3 500 1.0 1
¢ 9875 Dif: -580 NS:-5 4HW4 420 -40 1 * KJ764 Dif: 30 NS:-3 5SW5 650 -3.0 2
» 32 IMP: -11 EW:-9 4HW6 480 50 2 » K875 IMP: 1 EW:4 5SE6 680 -40 1
» K9 » 84 4HW5 450 -50 1 || AKQJT74 # 965 5DXS-4  -800 -7.0 1
v KT98652 | v AJ v QT3 — v A5
¢ 6 + AKQT42 ¢ T2 + AQ953
+ K95 Q84 a3 & J94
o4 VABN Q7653 o ¢ VBN 4 832
N~~~2~ 94 N 4~3~~ 9874
S ~~~2~ ¢J3 S 4~3~~ 48
E ~34~1 &AJT76 E ~1~52 &AQT62
W ~34-~1 W ~1~62
#17 » K9763 6HXE-1-100 Mean: 6HXE-1 100 50 1 ||#18 » K852 3CN-2200 Mean: 3SW-3 150 40 1
vJ 6DXN-2 300 -100 6HE-2 100 50 1 v QT82 3HN3 -140 -10  3HN3 140 40 1
+ AKQJT76 Dif: -400 NS:-5 6HW-1 50 40 1 ¢ A87 Dif: 340 NS:4 2SW-1 50 20 1
» IMP: -9 EW:-5 6DXN-1 4100 00 1 & T4 IMP: 8 EW:5 2SW2 110 3.0 1
» AQ2 ~ J8 6DXN-2  -300 -50 1 ||& A9743 a QJT 2SW3 140 40 1
v K652 v AQT973 7DXN-3  -500 -9.0 1 ||e A654 I v J7 3CN-2 200 5.0 1
* ¢ ¢ KT ¢ J943
& QT843 » AJ752 » 62 » KQ87
PdPIVAN ,T54 ooV ABN 46
N ~4~2~ 984 N 222~1 v K93
S ~4~2~ 498532 S 222~1 ¢ Q652
E 5~4~~ &K9 E ~~~1~ &AJ93
W 6~5~-~ W ~~~1~
#19 s K 4HN4 -420 Mean: 4HS4 420 40 1 # 20 4 J9852 2SN-1100 Mean: 4HE-1 100 40 1
v Q7 3HN6 -230 290  4HN4 420 40 2 v 8 4HE-1-100 -30  2SN2 110 40 1
+ KQJ4 Dif: -190 NS:-2 3HN6 230 -20 1 + AK8 Dif: 200 NS:4 2SN-1 4100 20 2
& AJT953 IMP: -5 EW:-4 2HN4 170 -3.0 1 » A732 IMP: 5 EW:2 1NE1 9 20 1
s QJ9743 & A65 3CN3 110 50 1 T » KQ6 3HE3 140 3.0 1
v 82 v J96 v 96432 _I_ v AKT5
¢ T2 + A765 ¢ T5 * QJ76
& K62 » Q74 » QT96 » J8
¢ VABN 4, T82 oo VABN 4743
N 323 ~~ v AKT543 N ~~~~~ v QJ7
S 323~~~ 4983 S ~~~~~ ¢ 9432
E~~~1~ a8 E ~~2~1 & K54
W~~~1~ W ~~2~1
#21 # T8765 4CE4 130 Mean: 3HS3 140 3.0 3 ||# 22 » QT76 3NN4 -430 Mean: 3NN6 490 3.0 1
v J73 3HS3-140 40  5CXE-1 100 20 1 v AJ7 3NN4 -430 390  3NN4 430 1.0 4
o JT Dif: 270 NS:3 4CE4 130 50 2 * KJ9 Dif: 0 NS:1 3CN6 170 6.0 1
& AT8 IMP: 7 EW:5 & AQ5 IMP: 0 EW:-1
s 94 & AJ32 & 9432 s A8
v 2 v T96 v 92 — v Q543
+ KQ762 ¢ A95 ¢ QT75 ¢ A8632
& Q9763 » KJ4 » K98 » 43
¢V ABN ,KQ P eVAN 4 KI5
N ~ ~ 3 ~1 v AKQ854 N 5~555 o KT86
S ~~3~1 ¢843 S 5~5 * 4
E 44~~~ 452 E ~~~~~ « JT762
W 44~~~ W ~ ~~~~
# 23 aT7 1NW-2 -200 Mean: 2HW-2 200 10 3 ||# 24 4 76 2HW-1 -50 Mean: 2SW-1 50 3.0 1
v KQ4 2HW-2 -200 160  1NW-2 200 1.0 1 v Q2 2SW-1-50 -60  2HW-1 50 30 1
¢ J83 Dif: 0 NS:1 2HW-1 100 20 2 ¢ J843 Dif: 0 NS:3 2SW3 140 20 1
» AJT85 IMP: 0 EW:-1 » AJT92 IMP: 0 EW:-3 2SW2 410 20 2
s Q9 & AJ432 » AKQ84 aJT 2HW3 140 20 1
v J86532 + v v K3 v J9854
¢ A5 + KT964 ¢ T762 * A9
+ KQ7 S & 643 & K3 & 7654
o4 VBN 4 K865 o ¢ VAN 49532
N ~~1~~ ¢ AT97 N 21~~~ o AT76
S ~~1~1 +Q72 S 21~~~ ¢KQ5
E ~1~2~ 92 E ~~~1~ &Q8
W~1~2-~ W ~~~1~
# 25 aJ8 3NN3 -400 Mean: 4SS4 420 30 1 ||# 26 aT 2HS3 -140 Mean: 2HS3 140 20 3
v AQ986 3NN-150 330 3NN4 430 3.0 1 v AT543 2HS2 110 80  2HS2 110 1.0 1
¢ QJ73 Dif: -450 NS:-9 3NN3 400 20 3 ¢ J8 Dif: -30 NS:1 2DS2 90 00 1
» K9 IMP: -10 EW:-2 3NN-1 50 9.0 1 & 98632 IMP: -1 EW:-2 2SE2 110 5.0 1
& 962 s K3 & K972 » J8643
v KT742 v3 v QJ8 + v 762
¢4 — ¢ AT9865 ¢ T942 ¢ A3
& QT64 » A873 & AK & J74
% ¢ VAN o AQT754 oo VABN 4 AQ5
N ~~344 oJ5 N 322~~ ¢K9
S ~~344 +K2 S 323 ~1 ¢ KQ765
E1~~~~ &J52 E ~~~2~ &QT5
W1l~~~~ W ~~~ 2~
# 27 4 A63 2HN4 -170 Mean: 4HN4 420 60 1 # 28 4 JT4 2NN4 -180 Mean: 2NN4 180 40 1
v AK82 4HN4 -420 200  3HN4 170 1.0 1 v K87 2CN2-90 20  1NN4 180 40 1
*72 Dif: 250 NS:6 2HN4 170 1.0 3 + A3 Dif: -90 NsS:2 2SS2 110 30 1
» KT52 IMP: 6 EW:1 1NN3 150 2.0 1 » KQJT6 IMP: -3 EW:-4 2CN2 90 20 1
s 754 a JT92 63 » Q952 2581 4100 -3.0 1
v Q5 v T63 v QT62 I v AJ3 2NN-3 300 -8.0 1
+ Q85 ¢ AKJT3 ¢ 982 + KQT4
& QJ763 a4 & A974 & 32
o ¢VABN , KQ3 %o ¢ VAN 4 AKS7
N 3~4~2 9J974 N 2~~21 954
S 3~4~2 ¢964 S 2~~11 ¢J765
E ~~n~~~ & A98 E~11~~ 485
W~~~-~-~ W ~11-~-~




